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Name Date

Subtract. Show your new groups.

1. 7,000 2. 9,632 3. 8054
—3.264 — 3,785 — 1,867
4. 4,000 5. 8531 6. 8006
—2.945 — 7624 — 4,692
7. 9040 8. 6,000 9. 7.180
— 5712 — 5,036 4,385
10. 6,478 11. 9,490 12. 5,000
—3.579 — 5,512 — 3,609
Solve. Show your work.

13. A cross-country automobile rally is 1,025 kilometers
long. At a stopping place, the leader had traveled
867 kilometers. How far away was the finish line?

14. A census counted 5,407 people in Marina’s home
town. If 3,589 are males, how many are females?

15. A construction company is building a stone wall.
The finished wall will contain 5,000 stones. So far,
1,487 stones have been placed. How many stones
have not been placed?
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